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B. Com. (Gen./Voc.) EXAMINATION
(For Batch 2017 and Onwards)
(Third Semester)

BUSINESS STATISTICS
BC-3.2

Time : Three Hours Maximum Marks - 80

Note : Attempt Five questions in all, selecting at
least one question but not more than two
questions from each Unit. All questions
carry equal marks. Question No. 10 is
compulsory.

UnitI

1. Define statistics. What are the features,
limitations, and scope of statistics ? 15
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2. Calculate Karl Pearson's coefficient of

skewness from the following from the data

given below : 15
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Weekly Wages

No. of Workers

(%)

40-50

50-60 6
60-70

70-80 10
80-90 25
90-100 30
100-110 36
110-120 50
120-130 60
130-140 70

For a moderately asymmetrical
distribution, the mode exceeds mean by
15. Estimate the value of median if the

mean is known to be 80.

2

(i1)

@)

(ii)

The mean weight of 150 students is
60 kg. The mean weight of boys is 70
kg with the standard deviation of 10 kg.
For the girls the mean weight is 55 kg
and the standard deviation is 15 kg. Find
the number of boys and girls and the

combined standard division. 5+10=15
Unit I1

Define Rank Correlation. When is it
preferred to Karl Pearson's coefficient of

correlation ?

The rank correlation coefficient between
marks obtained by some students in
Statistics and Accountancy is found to
be 0.8. If the total of squares of rank
differences is 33, find the number of

students. 6+9=15
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5. Find the means of X and Y variables and the
coefficient of correlation between them from

the following two regression equations : 15
2Y: X =50 = 0

3Y -2X-10=0

Also calculate the. standard error of estimate

of Y on X, given that the standard deviation
of X is 3.

6. From the following data, construct Price Index
Number for three years with average price as
base by simple average of price relatives

method using arithmetic mean : 515
Rate per Rupee

Year Wheat Cotton Qil

i 2 3 5
I 8 10 12
I 4 5 7
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Unit 111

7. Calculate the trend values using 4-yearly

moving average form the following data : 15

Year Sales (in crores)
2014 7

2015 8

2016 9

2017 11

2018 i 10

2019 12

2020 el

2021 | 6

2022 SH

2023 i< 10

8. Explain with examples the rules of addition

and multiplication in the theory of
probability. 15
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A bag contains 5 white and 8 black balls. Two

successive drawing of three balls are made

such that : 15

(@)

(i)

10. Answer the following in brief :

@

(i)

(iii)

(iv)
)
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the balls are replaced before the second
trial

the balls are not replaced before the
second trial. Find the probability that the
first drawing will give 3 white and second

3 black balls in each case.

~ Compulsory Question

What is Arithmetic mean ? Give its
properties.

What is Line of Best-fit ?

measures  of

Write the various

dispersion ?
Discuss the cost of living index number.

What is Bayes' theorem ?

6

5x4=20

(Hindi Version)

e : YAH SHE Y FH Y KA W WA A
affues =, weH TR B, | U WA B
I SAfw | gt uTR @ %% W g I

dem 10 ofrEd © |

TS 1

1. wiferst = uRafya Fifeg | difersl i

fodwad, g el &3 i,

15 -

2. d= fu T swe ¥ wd dd & fawwa

TlE H MO HISC

15

Afyd Wegd  sitHen @ We

)

40-50 5
50—60 6
6070 8
70-80 10
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80-90 25
90-100 30
~100-110 36
110-120 50
120-130 60
130-140 70

3. () UF ueaw sraufi famor & forg ERGED
W W15 afuw g ¥ ok wer so
@ B A W W we smitE
Hifg |
150 Bl +1 efem awm 60 fretum 2
EH H S AW, 70 freim 3,
5w v faeem 10 feeum f)
W%ﬁqaﬂmﬁssm
? oy fawem 15 feem

(ii)
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). (@) Y5 uedEw = uRewfm i o W@

el fordy & wedEy TOiE W HA
AW WA ST § 2

giferst iR dEnre ¥ 9 S g0
| E @ e (% wewaw TOlw
0.8 W TN 81 ARk & dw & =l
H A 33 8, A BEl H WEN ¥«

ity || 6+9=15

(i)

5. frefafas R wREEE T@el @ X @R Y
w0 B W IR I 9 WeHaH oNE S
Wi 15
2Y - X-50=0
3y -2X -10=0
WY/ XW YH A w9 Ffe & Mo
e, 9% @ g F X *1 vy foeem 3
2
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6. Ffafen oiwel @, siwnfoda we @
S w1 3T YT unw fafy @ we st
T oiEd eI W SMUR HEER dF el @
frq qea g w1 Fm #RE o 1S

i wuar €X
=t W wOw
I 2 3 5
II 8 10 12
I 4 5 7
3RS 11

7. frafafea siwesi ¥ 4 avffa @@ shwa =
ST Fh YA qEEl H O RN : 15
o fad (ag W)

2014 7
2015 ' 8
2016 9
2017 11
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2018 10
2019 12
2020 g
2021 6
2022 5
2023 10

8. wummm fagia ¥ Wi sk o % fram @t
e Wiea uIET | 15

9.@%_&59‘7}?3&8%%?!%'

W H QA AR @ TR P s S
& 15
() W vw A e wwad @ oWt
(i) I W WE ¥ wd T seedt Wit
§ yw Tw A weeh W F 3 we
AR T AR A 3 e W P @)
EURER B 5 T

(7-26/17)B-4492 11 P.T.O.



@ vew

10. e =1 Wl F sw AR: sxa=20
() s wer @ ¥ 2w o Ty
) o fee. W i
e M. it 7
() Mo ww g w e

A |
V) W W owm d 2

R.-4407 X 2’390




